Wiy MW 1
G6. X DK : x:S*S, S T hde s A v,

Fix) = xsvxsk:’n( -5 =0

—

—

‘P S A foliNom\AL =D CON‘(\}J\IDS oN WA\“ = ('m'w\.

® (zav)  flo): -5

)
Flo): 7-7 *3) -5
232-6 + 6 -5
:ZY

Tlo.-ﬂ

Sne J oy contwusey an 0,27 avp

faveo & F)»>o0 , e INT mued

Thae €xds A ptet ¢, O¢Cel | scu Tl
fley=0 | (e Cines oS,

2L2.6  |mpuod Dseentirnhiod

Adfucadion oF e QA Ve .

WaamaR -

ex. SwWuk 1t 1S DFFEAeNiAbLE ( ¥ enﬂs\
Lt y- FIxXV. et W= X Hx) - x7'7

floo dow's Sl R ¢ S T

axX
- LeF) ¥ xPHIIX)
: Zx7 + xl}/'



ex. Suilese -F 1S DFFEAENTiAGLE | ( Jf eny(s\
Lty FI) et W X HY - #73

N 3 N 3 .
g& = W '&;i_x l@lx\ r X dixl,t(x\ 1 Paset ULE

: 1x-l:lx\s X 3-F(x\L-F’(x\ CHAM RVLE

T v

-'LX7I +5x77

lipucet Dirfeaustintiol)

Combipen.  fHE  EGUANIN) x"+7l= 15

M escluhes A cive. \
Wiy EQ,
FD EG oF TANGENM  (we Nl Sowed FaL ExHe
VAlABLL. .
M e Ponst ‘3,‘1\. 7: A X5 | X= Au,fs
ExPure T

do: e weutt EG  DEFeeS 7 AS ohe L MAE
Fusclions oF X,

15 - x* L 20 ‘
)’ 2 exfur? EGS

w/’LS'x" \E yto

‘( 5 (15- x\ B yo
dy 7,(75 *\ (Zx\ \E 7:.0




Leds  sve ot Clwgoed DEFeaasiiaiicN)

() Assume N THe wluad EG Derwes y oA o o
hig  DFFsTAbE  Fuduus & X, en 7 = Fx )

en. R & 7"= 15 —>  x*+ fx) = LS
A
(1) perenendie Bl Sy o (mtued EG -
{0 1) d -
c\)([x 7 l &{Ls‘l dxi 'F(X\ 1 d)( [ZY}

Ix + 7.7 7‘ = O Ix + 1HXV'(X) = O
N

(3) SGvE For (XY\
) | 7 \ / N

7-b :mlx-&\

Lwoe THALeGH lﬁ,b)
wr stefe

\<|X

/




5-20 Find dy/dx by implicit differentiation.

5. x7 —4dxy +y’=4 6. 2x* + xy —y*=2
7. x* + xy?+y3 =5 8 x*—xy’+y =1
2
X 2 5 2,3 4
9. =y +1 10. y° +x°y’ =1+ x%
x+y
11. ycosx = x2 + y? 12. cos(xy) = 1 + siny
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25-32 Use implicit differentiation to find an equation of the
tangent line to the curve at the given point.

25. ysin2x = xcos 2y, (w/2, 7/4)
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34. (a) The curve with equation y* = x” + 3x?is called the

Tschirnhausen cubic. Find an equation of the tangent
line to this curve at the point (1, —2).

At what points does this curve have horizontal tangents?

(c) Illustrate parts (a) and (b) by graphing the curve and the
tangent lines on a common screen.
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